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- SWBAT apply the rules and theorems of segments to solve for u

‘f.'.. -
.

The mécaswe of Qn c:ngle formed by two lines that
intersect inside a circle is half the sum of the
measures of the intercepted arcs.

The measure of an cngle formgd'b / ,3,1 VG
intersect outside a circle is half the diffe
measures of the infercepi‘e@ ArCs
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Example 1: Find each measure.

a) - mL1
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Clu+¥)=

o1 = Tux “19 - Z.
25 = ‘7\3 = S

You Try! What is the value of the variable to the nearest fenth?
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Algebra Find the value of each variable using the given chord, secant, and tangent & Sece Problem 3,
lengths. If the answer is nota whole number, round to the nearest tenth. .

B( 0k B) = n(“
\Bx T = 3“\



